Calculo 3 - ago-dic 2011 - Calificaciones

Clave | PT |[EP1| EP2| EF [TOT | CAL
AAGG|[704| 33| 56 | 90 | 77.6] 8
CAAD|[67.0) 49| 54 | 92 | 79.8] 8
CARJ | 13.1] 17 3.7 R
CASM|[64.7| 19| 32 | 44 | 43.4] R
CEAO|66.0( 33| 66 | 89 | 77.7] 8
COAJ|901[ 50| 96 | 99 | 92.5] 9.5
GOCV| 754|148 | 68 | 77 | 72.6] 7.5
HEPR|74.7| 76 [ 89 | 82 [ 78.0] 8
IARJ [ 89.3| 53 | 84 | 84 | 81.7] 8
JIBM 1 82.3] 61| 81 | 99 [ 90.6] 9
LECM|81.3] 98 | 87 [ 97 | 93.8] 9.5
MIDO | 13.3| 22 42| R
OETC|[49.1| 37| 58 | 95| 78.3] 8
OILC | 13.3] O 20| R
ROOA| 28.9 43| R
SAFA | 17.3 26| R
SAVH| 459 0 | 40 | 43 [ 38.5] R
SEHA [ 30.6 [ 42 8.8] R
TORF|71.9]1 49| 37 | 63 | 60.0f R
VAMD| 33.7] 19 /0] R

PT=promedio tarea

EP1= examen parcial 1
EP2=examen parcial 2
EF= examen final
TOT=total= PT*0.15 + (EP1+EP2)*0.1 + EF*0.65
CAL= calificacion=TOT/10 redondeado a medio
punto mas cercano
R= reprobado




